City of Kent 2011 Citywide Large Culvert & Storm Pipe Cleaning Bid Opening: May 31, 2011, 11:00 AM	BIDDER'S NAME AND ADDRESS		3914 Leary Way NW 6		6622 112th St. E.		3 Road Construction Northwest, Inc. PO Box 188 Renton, WA 98057-0188		Engineer's Estimate Toby Hallock	
	TOTAL			\$986,847.95		\$1,162,547.27		\$1,640,937.44		\$1,077,166.83
ITEM				TOTAL		TOTAL		TOTAL		TOTAL
NO. DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
SCHEDULE IV A - STORM SEWER (Site 1)  4000A* Removal & Disposal of Sediment, Refuse & Vegetation from Culvert or Creek	190	TON	\$145.00	\$27,550.00	\$165.00	\$31,350.00	\$312.00	\$59,280.00	\$162.00	\$30,780.00
4010A Supplemental Stormwater Bypass Pumping	1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
4015A Temporary Stormwater Bypass	1	LS	\$13,600.00	\$13,600.00	\$17,100.00	\$17,100.00	\$7,000.00	\$7,000.00	\$20,000.00	\$20,000.00
4020A Stormwater Tanker Truck	1	FA	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
4025A Minor Changes	1	FA	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
TOTAL SCHEDULE IV A				\$51,150.00		\$58,450.00		\$76,280.00		\$60,780.00
Sales Tax 9.5%				\$4,859.25		\$5,552.75		\$7,246.60		\$5,774.10
TOTAL				\$56,009.25		\$64,002.75		\$83,526.60		\$66,554.10
SCHEDULE IV B - STORM SEWER (Site 2) 4000B* Removal & Disposal of Sediment, Refuse & Vegetation from Culvert or Creek	800	TON	\$145.00	\$116,000.00	\$165.00	\$132,000.00	\$312.00	\$249,600.00	\$162.00	\$129,600.00
4010B Supplemental Stormwater Bypass Pumping	1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
4015B Temporary Stormwater Bypass	1	LS	\$27,200.00	\$27,200.00	\$72,000.00	\$72,000.00	\$8,850.00	\$8,850.00	\$20,000.00	\$20,000.00
4020B Stormwater Tanker Truck	1	FA	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
4025B Minor Changes	1	FA	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
TOTAL SCHEDULE IV B				\$153,200.00		\$214,000.00		\$268,450.00		\$159,600.00
Sales Tax 9.5%				\$14,554.00		\$20,330.00		\$25,502.75		\$15,162.00
TOTAL				\$167,754.00		\$234,330.00		\$293,952.75		\$174,762.00
SCHEDULE IV C - STORM SEWER (Site 3)  4000C* Removal & Disposal of Sediment, Refuse & Vegetation from Culvert or Creek	375	TON	\$145.00	\$54,375.00	\$165.00	\$61,875.00	\$312.00	\$117,000.00	\$162.00	\$60,750.00
4010C Supplemental Stormwater Bypass Pumping	1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
4015C Temporary Stormwater Bypass	1	LS	\$17,000.00	\$17,000.00	\$35,625.00	\$35,625.00	\$7,000.00	\$7,000.00	\$20,000.00	\$20,000.00
4020C Stormwater Tanker Truck	1	FA	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
4025C Minor Changes	1	FA	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
TOTAL SCHEDULE IV C				\$81,375.00		\$107,500.00		\$134,000.00		\$90,750.00
Sales Tax 9.5%				\$7,730.63		\$10,212.50		\$12,730.00		\$8,621.25
TOTAL				\$89,105.63		\$117,712.50		\$146,730.00		\$99,371.25

City of Kent			1		2		3				
2011 Citywide Large Culvert & Storm Pipe Cleaning		S	Ventilation Power Cle	entilation Power Cleaning, Inc.		ng, Inc.	Road Construction No	orthwest, Inc.	Engineer's Estimate Toby Hallock		
Bid Opening: May 31, 2011, 11:00 AM	NAME AND		3914 Leary Way NW		6622 112th St. E.		PO Box 188				
	ADDRES	S	Seattle, WA 98107		Puyallup, WA 98373		Renton, WA 98057-0	0188			
	TOTAL			\$986,847.95		\$1,162,547.27		\$1,640,937.44		\$1,077,166.83	
ITEM				TOTAL		TOTAL		TOTAL		TOTAL	
NO. DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE		UNIT PRICE		UNIT PRICE	AMOUNT	
SCHEDULE IV D - STORM SEWER (Site 4) 4000D* Removal & Disposal of Sediment, Refuse & Vegetation from Culvert or Creek	375	TON	\$145.00	\$54,375.00	\$165.00	\$61,875.00	\$312.00	\$117,000.00	\$162.00	\$60,750.00	
4005D Removal of Existing Tree	1	EA	\$500.00	\$500.00	\$400.00	\$400.00	\$525.00	\$525.00	\$1,000.00	\$1,000.00	
4010D Supplemental Stormwater Bypass Pumping	1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	
4015D Temporary Stormwater Bypass	1	LS	\$13,600.00	\$13,600.00	\$16,875.00	\$16,875.00	\$7,000.00	\$7,000.00	\$20,000.00	\$20,000.00	
4020D Stormwater Tanker Truck	1	FA	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	
4025D Minor Changes	1	FA	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	
TOTAL SCHEDULE IV D				\$78,475.00		\$89,150.00		\$134,525.00		\$91,750.00	
Sales Tax 9.5%				\$7,455.13		\$8,469.25		\$12,779.88		\$8,716.25	
TOTAL				\$85,930.13		\$97,619.25		\$147,304.88		\$100,466.25	
SCHEDULE IV E - STORM SEWER (Site 5)											
4000E* Removal & Disposal of Sediment, Refuse & Vegetation from Culvert or Creek	200	TON	\$145.00	\$29,000.00	\$165.00	\$33,000.00	\$312.00	\$62,400.00	\$162.00	\$32,400.00	
4010E Supplemental Stormwater Bypass Pumping	1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	
4015E Temporary Stormwater Bypass	1	LS	\$20,400.00	\$20,400.00	\$9,000.00	\$9,000.00	\$7,000.00	\$7,000.00	\$20,000.00	\$20,000.00	
4020E Stormwater Tanker Truck	1	FA	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	
4025E Minor Changes	1	FA	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	
TOTAL SCHEDULE IV E				\$59,400.00		\$52,000.00		\$79,400.00		\$62,400.00	
Sales Tax 9.5%				\$5,643.00		\$4,940.00		\$7,543.00		\$5,928.00	
TOTAL				\$65,043.00		\$56,940.00		\$86,943.00		\$68,328.00	
SCHEDULE IV F - STORM SEWER (Site 6)											
4000F* Removal & Disposal of Sediment, Refuse & Vegetation from Culvert or Creek	900	TON	\$145.00	\$130,500.00	\$165.00	\$148,500.00	\$312.00	\$280,800.00	\$162.00	\$145,800.00	
4010F Supplemental Stormwater Bypass Pumping	1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	
4015F Temporary Stormwater Bypass	1	LS	\$6,800.00	\$6,800.00	\$81,000.00	\$81,000.00	\$8,850.00	\$8,850.00	\$20,000.00	\$20,000.00	
4020F Stormwater Tanker Truck	1	FA	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	
4025F Minor Changes	1	FA	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	
TOTAL SCHEDULE IV F				\$147,300.00		\$239,500.00		\$299,650.00		\$175,800.00	
Sales Tax 9.5%				\$13,993.50		\$22,752.50		\$28,466.75		\$16,701.00	
TOTAL				\$161,293.50		\$262,252.50		\$328,116.75		\$192,501.00	

City of Kent 2011 Citywide Large Culvert & Storm Pipe Cleaning Bid Opening: May 31, 2011, 11:00 AM		BIDDER'S NAME AND ADDRESS		3914 Leary Way NW		6622 112th St. E.		Road Construction No PO Box 188 Renton, WA 98057-0		Engineer's Estimate Toby Hallock		
		TOTAL			\$986,847.95		\$1,162,547.27		\$1,640,937.44		\$1,077,166.83	
ITEM					TOTAL		TOTAL		TOTAL		TOTAL	
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
4000G* Re	IV G - STORM SEWER (Site 7) emoval & Disposal of Sediment, Refuse & Vegetation from alvert or Creek	300	TON	\$145.00	\$43,500.00	\$165.00	\$49,500.00	\$312.00	\$93,600.00	\$162.00	\$48,600.00	
4005G Re	emoval of Existing Tree	1	EA	\$500.00	\$500.00	\$400.00	\$400.00	\$525.00	\$525.00	\$1,000.00	\$1,000.00	
4010G St	upplemental Stormwater Bypass Pumping	1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	
4015G Te	emporary Stormwater Bypass	1	LS	\$17,000.00	\$17,000.00	\$27,000.00	\$27,000.00	\$7,000.00	\$7,000.00	\$40,000.00	\$40,000.00	
4020G St	ormwater Tanker Truck	1	FA	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	
4025G Mi	inor Changes	1	FA	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	
TOTAL SCH	HEDULE IV G				\$71,000.00		\$86,900.00		\$111,125.00		\$99,600.00	
Sa	ales Tax 9.5%				\$6,745.00		\$8,255.50		\$10,556.88		\$9,462.00	
TO	OTAL				\$77,745.00		\$95,155.50		\$121,681.88		\$109,062.00	
1000H* Re	IVH - STORM SEWER (Site 8) emoval & Disposal of Sediment, Refuse & Vegetation from ulvert or Creek	250	TON	\$145.00	\$36,250.00	\$165.00	\$41,250.00	\$312.00	\$78,000.00	\$162.00	\$40,500.00	
4010H Տւ	upplemental Stormwater Bypass Pumping	1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	
4015H Te	emporary Stormwater Bypass	1	LS	\$23,800.00	\$23,800.00	\$275.00	\$275.00	\$7,000.00	\$7,000.00	\$20,000.00	\$20,000.00	
4020H St	ormwater Tanker Truck	1	FA	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	
4025H Mi	inor Changes	1	FA	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	
	HEDULE IV H				\$70,050.00		\$51,525.00		\$95,000.00		\$70,500.00	
	ales Tax 9.5%				\$6,654.75		\$4,894.88		\$9,025.00		\$6,697.50	
TO	DTAL				\$76,704.75		\$56,419.88		\$104,025.00		\$77,197.50	
4000I Re	IVI - STORM SEWER (Site 9) emoval & Disposal of Solids & Decant Liquids for Storm Sewer pe, 12 Inch Diameter	2	TON	\$116.00	\$232.00	\$250.00	\$500.00	\$419.00	\$838.00	\$132.00	\$264.00	
Pi	emoval & Disposal of Solids & Decant Liquids for Storm Sewer pe, 24 Inch Diameter	20	TON	\$116.00	\$2,320.00	\$200.00	\$4,000.00	\$419.00	\$8,380.00	\$132.00	\$2,640.00	
Pi	emoval & Disposal of Solids & Decant Liquids for Storm Sewer pe, 30 Inch Diameter	65	TON	\$116.00	\$7,540.00	\$185.00	\$12,025.00	\$419.00	\$27,235.00	\$132.00	\$8,580.00	
Pi	emoval & Disposal of Solids & Decant Liquids for Storm Sewer pe, 36 Inch Diameter	210	TON	\$116.00	\$24,360.00	\$175.00	\$36,750.00	\$419.00	\$87,990.00	\$132.00	\$27,720.00	
	emoval & Disposal of Solids and Decant Liquids for Catch Basin /pe 2, 72 Inch Diameter	, 60	TON	\$116.00	\$6,960.00	\$175.00	\$10,500.00	\$419.00	\$25,140.00	\$132.00	\$7,920.00	
OTAL SCH	HEDULE IV I				\$41,412.00		\$63,775.00		\$149,583.00		\$47,124.00	
Sa	ales Tax 9.5%				\$3,934.14		\$6,058.63		\$14,210.39		\$4,476.78	
T	OTAL				\$45,346.14		\$69,833.63		\$163,793.39		\$51,600.78	

City of Kent			1		2		3			
2011 Citywide Large Culvert & Storm Pipe Cleaning	BIDDER'S	S	Ventilation Power Clea	ntilation Power Cleaning, Inc.		Olson Bros. Excavating, Inc.		orthwest, Inc.	Engineer's Estimate	
Bid Opening: May 31, 2011, 11:00 AM	NAME AN	ID	3914 Leary Way NW		6622 112th St. E.		PO Box 188		Toby Hallock	
	ADDRES:	S	Seattle, WA 98107		Puyallup, WA 98373		Renton, WA 98057-0	0188		
	TOTAL			¢007.047.05		¢1 1/2 E47 27		¢1 (40 027 44		¢4 077 4// 00
ITEM	TOTAL			\$986,847.95 TOTAL		\$1,162,547.27 TOTAL		\$1,640,937.44 TOTAL		\$1,077,166.83 TOTA
NO. DESCRIPTION	QTY	UNIT	UNIT PRICE		UNIT PRICE		-     UNIT PRICE		UNIT PRICE	AMOUN
NO. BESONII HON	211	OIVII	ONTTINIOL	AWOON	OWNTRACE	AWOUNT	ONTTRICE	AWOON	OWNTRACE	AWOON
SCHEDULE IV J - STORM SEWER (Site 10)  4000J* Removal & Disposal of Sediment, Refuse & Vegetation from	60	TON	\$145.00	\$8,700.00	\$165.00	\$9,900.00	\$312.00	\$18,720.00	\$162.00	\$9,720.00
Culvert or Creek	00	1011	\$110.00	ψο,,,ου.ου	Ψ100.00	ψ7,700.00	\$012.00	Ψ10,720.00	ψ102.00	ψ7,720.00
4010J Supplemental Stormwater Bypass Pumping	1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
4015J Temporary Stormwater Bypass	1	LS	\$10,200.00	\$10,200.00	\$5,400.00	\$5,400.00	\$7,000.00	\$7,000.00	\$20,000.00	\$20,000.00
4020J Stormwater Tanker Truck	1	FA	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
4025J Minor Changes	1	FA	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
TOTAL SCHEDULE IV J				\$28,900.00		\$25,300.00		\$35,720.00		\$39,720.00
Sales Tax 9.5%				\$2,745.50		\$2,403.50		\$3,393.40		\$3,773.40
TOTAL				\$31,645.50		\$27,703.50		\$39,113.40		\$43,493.40
SCHEDULE V - TRAFFIC CONTROL										
5005 Traffic Control Labor	500	HR	\$60.85	\$30,425.00	\$42.00	\$21,000.00	\$67.00	\$33,500.00	\$45.00	\$22,500.00
5010 Construction Signs Class A	216	SF	\$14.50	\$3,132.00	\$7.00	\$1,512.00	\$13.00	\$2,808.00	\$15.00	\$3,240.00
5015 Traffic Control Supervisor	50	HR	\$64.40	\$3,220.00	\$50.00	\$2,500.00	\$69.00	\$3,450.00	\$50.00	\$2,500.00
5020 Temporary Traffic Control Devices	1	LS	\$2,835.00	\$2,835.00	\$2,000.00	\$2,000.00	\$6,250.00	\$6,250.00	\$7,000.00	\$7,000.00
5030 Portable Changeable Message Sign (PCMS)	27	DAY	\$65.00	\$1,755.00	\$100.00	\$2,700.00	\$156.00	\$4,212.00	\$100.00	\$2,700.00
5035 Sequential Arrow Sign (SAS)	30	DAY	\$21.00	\$630.00	\$80.00	\$2,400.00	\$156.00	\$4,680.00	\$65.00	\$1,950.00
5040 Project Sign Installation	7	EA	\$180.00	\$1,260.00	\$125.00	\$875.00	\$1,200.00	\$8,400.00	\$500.00	\$3,500.00
TOTAL SCHEDULE V				\$43,257.00		\$32,987.00		\$63,300.00		\$43,390.00
Sales Tax 9.5%				\$4,109.42		\$3,133.77		\$6,013.50		\$4,122.05
TOTAL				\$47,366.42		\$36,120.77		\$69,313.50		\$47,512.05
SCHEDULE VII - TEMPORARY EROSION AND SEDIMENTATION CO	ONTROL									
7000 Seeding, Fertilizing, and Mulching	1	AC	\$3,390.00	\$3,390.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00
7005 Silt Fence	400	LF	\$9.25	\$3,700.00	\$5.00	\$2,000.00	\$9.00	\$3,600.00	\$7.00	\$2,800.00
7015 Inlet Protection	50	EA	\$37.20	\$1,860.00	\$60.00	\$3,000.00	\$90.00	\$4,500.00	\$60.00	\$3,000.00
7020 Straw Mulch - Hand Applied	400	SY	\$6.78	\$2,712.00	\$10.00	\$4,000.00	\$6.50	\$2,600.00	\$7.00	\$2,800.00
7030 ESC Lead	50	DAY	\$725.00	\$36,250.00	\$60.00	\$3,000.00	\$110.00	\$5,500.00	\$60.00	\$3,000.00
7055 Erosion/Water Pollution Control	1	FA	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
7070 Street Cleaning	60	HR	\$130.00	\$7,800.00	\$110.00	\$6,600.00	\$214.00	\$12,840.00	\$120.00	\$7,200.00
TOTAL SCHEDULE III E				\$75,712.00		\$40,600.00		\$51,540.00		\$42,300.00
Sales Tax 9.5%				\$7,192.64		\$3,857.00		\$4,896.30		\$4,018.50
TOTAL				\$82,904.64		\$44,457.00		\$56,436.30		\$46,318.50

City of Kent				1	2		3		
2011 Citywide Large Culvert & Storm Pipe Cleaning	BIDDER'	S	Ventilation Power C	leaning, Inc.	Olson Bros. Excavating	, Inc.	Road Construction Northwest, Inc.	Engineer's Estimate	
Bid Opening: May 31, 2011, 11:00 AM	NAME AN	ND	3914 Leary Way NV	V	6622 112th St. E.		PO Box 188	Toby Hallock	
	ADDRES	S	Seattle, WA 98107		Puyallup, WA 98373		Renton, WA 98057-0188		
	TOTAL			\$986,847.95		\$1,162,547.27	\$1,640,937.44		\$1,077,166.83
ITEM				TOTAL		TOTAL	TOTAL	-	TOTAL
NO. DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE AMOUNT	UNIT PRICE	AMOUNT
SUMMARY									
Total Schedule IV A (STORM SEWER - SITE 1)				\$56,009.25		\$64,002.75	\$83,526.60		\$66,554.10
Total Schedule IV B (STORM SEWER - SITE 2)				\$167,754.00		\$234,330.00	\$293,952.75		\$174,762.00
Total Schedule IV C (STORM SEWER - SITE 3)				\$89,105.63		\$117,712.50	\$146,730.00		\$99,371.25
Total Schedule IV D (STORM SEWER - SITE 4)				\$85,930.13		\$97,619.25	\$147,304.88		\$100,466.25
Total Schedule IV E (STORM SEWER - SITE 5)				\$65,043.00		\$56,940.00	\$86,943.00		\$68,328.00
Total Schedule IV F (STORM SEWER - SITE 6)				\$161,293.50		\$262,252.50	\$328,116.75		\$192,501.00
Total Schedule IV G (STORM SEWER - SITE 7)				\$77,745.00		\$95,155.50	\$121,681.88		\$109,062.00
Total Schedule IV H (STORM SEWER - SITE 8)				\$76,704.75		\$56,419.88	\$104,025.00		\$77,197.50
Total Schedule IV I (STORM SEWER - SITE 9)				\$45,346.14		\$69,833.63	\$163,793.39		\$51,600.78
Total Schedule IV J (STORM SEWER - SITE 10)				\$31,645.50		\$27,703.50	\$39,113.40		\$43,493.40
Total Schedule V (TRAFFIC CONTROL)				\$47,366.42		\$36,120.77	\$69,313.50		\$47,512.05
Total Schedule VII (TEMPORARY EROSION AND SEDIMENTATION CONTR	OL)			\$82,904.64		\$44,457.00	\$56,436.30		\$46,318.50
CONSTRUCTION CONTRACT TOTAL				\$986,847.95	\$	1,162,547.27	\$1,640,937.44		\$1,077,166.83